MATEMATICAS 1° Bach. CC.N.y S.

Funciones a derivar Soluciones
1) y = X*+3x=2 y' = 2x+3
2)y=-ax’+b y'= —2ax
—X+3 1
3 = ': —_—
)Y 5 y'==3
6x® -3 48x7
4 =
)Y c y'= 5
5) y = mx+n y' =
6) y=(4+3x)x y'= +6x
7) y=(3+2x)(3—2x) y' =—8x
8) y=(ax*+bx+c)(ax—b) y' =3a*x*-b*+ac
9) y=(-2x* +X—1)(X—;2) y'=—3x? +5x—§
10)y = (3x — 4)* y' = 12(3x - 4)°

11)y = (2x° = 3)°
12) y=(2x-3)*(3x+1)?

13)y ==
X"
1 1 1
Y SSE e
2
15)y =—=x""
)Y=-3

16)y=%—9+c
X X
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3X+2
3X—-4
X+1
3—-4x
5+ 2x
ax+b
cxX+d
x?+1
X+1
X+2
X2 +x+1
1-x2
2+ X2

17)y =

18)y =

19)y=

20)y =

21)y =

22)y =

23)y =

X
x% -1
1 1

25)y=—+———
a+X a—X

24)y =

y' = 60x*(2x° — 3)°

y'=6(2x-3)*(3x+1D)(5x—2)

na

= (3x+2)°

7
(X +1)?
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(2x +5)*
_ad-hbc
(cx +d)?
. XA +2x-1
(X +1)?
_ —x?—4x-1
(X2 +x+1)?
—6X
(x? +2)?
x> +1
(¢ -1y
1 1
(x-a)’ (x+a)’
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Problemas de Derivadas

Funciones a derivar Soluciones

x3-1 6x?
26)y = -
)y X3 +1 y (x® +1)
27)y = (2x+3)? y' = 8x+12
28)y=(4-5x)° y'=—15(4 - 5x)?

29)y=~/2-X y'=— L

2\2—X
3x
30)y=3Jx*-3 y'=
Vx?-3
31) y = 2x+/5x y'=34/5x
2 1
32)y= ==
V1+x \/(x+1)3
33)y =%/4a+7x y——
\/(4a+7x)
4x -
34)y=Ix—+1-x
N
_ 2a+3X
35) y=x~a+x
)Y 2«/a+
36)y= (x + \/;)2 y':2x+1+3&
3
37)y=23x"-1 y-_— %
/(' -1

38)y= In\/X y':i
a 2X

39) y=(1-x)In(l-x) y'=—1-In(—X)
40)y = InX*2 y-:i_i
X—a X+a x-a

41)y = In(1+3) y':i—l
X X+a X

42)y = In¥/x2 y':i

3X
1 1
43)y =In\x+/x+1 '= +—
)Y ( ) y 2X+2 X
44)y = In§/1-2x° y'=+
2x° -1
1
45)y = In(2x +3)2 y'=
)y ( ) y 2X+3
_ 3
46)y:In(X 5)2 " 3 B 2
(x+1) X—5 x+1

B 4(2><2_3)3 _ X X
Ay s Y o3 20—
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Problemas de Derivadas

Funciones a derivar  Soluciones Funciones a derivar Soluciones
48)y = x%e* +x%*  y'=e* (x> +4x° +2x) / —
49)y=ex+e—x yuzex_e—x 71)y_\)X+ — X+ X
2+4/x% —
50) y — e256nx yu — ZeZSen X COS X 72) +1 _2 1
— 3 sen 4x - 3 sen 4x y= =
51)y=e y 12fxe oS 4x x—1 m (x—1)? -1
\/; 1
52)y=a V=S 7ay—@m@w2—1 y'=6(x+1)xX 1+
y=" - 2 \/x - Vx?+1
54) y = x> y'=3x%e™ (1-x) 74) y = sen 2x y'= 202X
55) y = a™ y'=na™ Ina 75) y = X C0S 2X y'= COS2X — 2XSen 2x
1
. 10" 1In10 76) y = tg/x P —
56) y =107 y'=—F7— )y=19 Y= X cos VX
24X )
X _1 2 X = — 1+t 2 '\/;
50y=|n3+4 y'=e2Xel ZJ;( )
i 6x 1 77)y =sen®3x y'= 9sen?® 3x cos3x
58) y = log, (3x" +5) y'= 3%’ <5 Ina 78) y =4cos’(2x —1) y'= —40cos*(2x—1)-

1+x 1 1
59 lo '= —
)y = gV —X y 1-x2 Inl0
3X 2
60)y = In31/ =
)y X+2 y 3X(x+2)

Inx 2—Inx _/x(2-1nx)
61 = =
Wk Ve T 20
X a’
62 = In '—
)Y Vx? +a? Y x(x* +a’)
(x-2)° , 5x —1
63)y =1In =
)y V2x -1 (x-2)(2x-1)
64) y=In(x+x*=1) y'= !

Vx? -1

65)y = (3x+1)*°  y'=(x+1D)> 3.

{2 In(3x +1) + 3(32)(’(;13)}
66)y = x y,:X%(l—lznxj
X
67)y =%/(x +1)° y'=4(x+1)°-
2x—-2(x+1)In(x +1)
x2(x +1)

68) y = 2x*
69) y = 2x***  y'=2x

y'=6x>*(1+ Inx)
X *(cosx—xsenxInx)

70) y = x*a’e” y'=xaaxex(—+lna+1j
X

-sen(2x —1)
8x
79)y = cotg 4x° - =
2 g y sen? 4x?
=—8x(1+ cotg®4x?)
senx , 1
80)y = y'=
1+ cosx 1+ cosx
81)y = COSX " 1
1-senx 1-senx
82) y =sen*x—cos*x y'=4sen*xcosx+
+4c0s°xsenx=
= 4Senxcosx = 2sen2x
83)y = arcsen 2x y'= 2
V1-4x?
-1
84)y = arccos+/x y'=—r—
24/X — x?
2X
85)y = arctg(x’+1 -
2 gec+1) Y X*+2x%+2
_ —2X
86)y = arctg(e ) y'= 2e_4x
1+e
1
87)y = arctg (In X =
2 g(nx) y X(1+1n?x)
2 —
88) y = Sen‘ x — Cos X
tgx
. 2sen’ X cos” X +sen’ X cos X —sen’ X +C0S X
B sen’ X

89) y = cos® 3x* y'=—6xsen 6x°
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